Sydney Airport interest payment calculation

Here is the pricing information at the time of the transaction on the trading terminal. As
you can see the money yield, which is your yield to maturity for the bond, is 5.67%. | also
note that the gross price of $128,176.00 includes a net price of $127,849.00 and an accrued
interest amount of $327.00. | will get back to those numbers later.
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The method to calculate the coupon is defined as the coupon and principal linked to the last
2 quarter on quarter change for the Australian Consumer Price Index (CPI) as shown by ACIF
index. The ACIF index is produced by the Reserve bank of Australia. A screen shot of the
ACIF is shown later for you to see what it looks like.

The coupon is calculated as follows:

Interest Payment = (Coupon =+ Frequency) x Index Ratio x Face Value

For the Coupon to be distributed on 20 May 2017

Interest Payment = (3.12% + 4) x 1.2883 x $100,000 = $1,004.87

Where Index Ratio = Reference CPl = Base CPI



Base CPI =100
Reference CPl =128.83

The Capital values that the most recent coupon calculations have been derived from as
shown in the table below.

Coupon Date Capital Value
20 May 2017 128.83
20 Feb 2017 128.01
20 Nov 2016 127.31
20 Aug 2016 127.20
20 May 2016 127.09

As each quarter CPI comes out the change is added to the Capital value so the 3.12% keeps
being multiplied by a larger and larger number. This is why you end up receiving the 5.67%
yield assuming CPI over the life of the bond sits in the middle of the RBA target.

The Reserve Bank’s CPI factor page is below to give you an idea of what it looks like.
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Like | mentioned before, you will notice in the trade screen the accrued interest of $347.90.
This is the amount of interest that has been accrued on the bond between the last time a
coupon was paid and the date your transaction was settled. i.e.:

Total number of days between coupons (20 Feb 17 to 20 May 17) = 89
Total number of days between last coupon and settlement date of the trade (20 Feb 17 to

21 Mar 17) = 29 days.

Interest Accrued = $1,004.87 x (44/89) = $327.00.



